Macroeconomics

Instructor: Mark Tomass

Review Questions H11

Keynesian Analysis of Aggregate Purchases

 1.
The consumption function for households in a certain nation can be expressed by the following equation:





C = ($800 billion + 0.7 DI)


where C is annual consumption and DI is annual disposable income.  How much annual consumption is dependent on factors other than annual disposable income, such as aggregate wealth?  What are the nation’s marginal propensity to consume and its marginal propensity to save?

2.
Suppose disposable income is $3,000 billion for the year.  Use the consumption function from Problem 1 to calculate annual consumption.  Calculate annual consumer purchases for annual disposable income of $4,000 billion, $5,000 billion, and $6,000 billion, and show how the percentages of income consumed and saved vary as disposable income varies.

3.
Graph the consumption functions whose equation is given in Problem 1.  Use your graph to show the level of annual disposable income at which household saving would be zero.  How could consumers afford to purchase goods and services even if their annual disposable income were zero?

4.
Suppose an increase in household wealth increases the amount of autonomous consumption each year from $800 billion to $1,000 billion.  Assuming the marginal propensity to consume remains 0.7, write the equation of the new consumption function and show how the increase in wealth affects the consumption line you drew in answer to Problem 3.

5.
Suppose the marginal propensity to consume increases from 0.7 to 0.8.  Assuming the amount of annual consumption independent of annual income remains $800 billion, show the impact of the increase in the marginal propensity to consume on the consumption line you drew in answer to Problem 3.

6.
The current real rate of interest is 5 percent.  Draw an investment demand curve, and show the equilibrium quantity of investment purchases.  What is the real marginal return to investment in equilibrium?

7.
Assuming no change in the real rate of interest during the year, what can cause investment purchases to increase?  Use the graph you drew in answer to Problem 6 to show how an increase in investment purchases can come about.  What can cause a decrease in investment purchases?

8.
Suppose the real rate of interest income increases from 5 percent to 7 percent.  Use the graph you drew in answer to Problem 6 to show the impact on investment purchases.

9.
Suppose net exports are negative for the U.S. economy.  Explain how a recession in the United States could result in positive net exports in the following year.

10.
Draw an aggregate purchases line, and show how aggregate purchases fall short of the sum of consumer, investment, and government purchases when net exports are negative.
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